





ABSTRACT

Schemes - State Scheme- Energisation of Street Lights with Solar Energy for 2012-13 Continuation of the scheme- Sanction of funds and prescribing guidelines - Orders - Issued - Amendment - Issued.

Rural Development and Panchyat Raj (SGS 3) Department

G.O.(Ms.).No.51

Dated: 19.05.2014. ஜய, வைகாசி 5, திருவள்ளுவர் ஆண்டு 2045 Read:

(1) G.O.(Ms) No. 67, Rural Development and Panchyat Raj (SGS 3) Department, dated 02.08.2012.

(2) From the Chairman & Managing Director, TEDA, letter No.TEDA/2330/SSLS/

SE /2012-13, dated 13.8.2012 and 25.11.2013.

(3) From the Director of Rural Development and Panchayat Raj, Chennai-15, letter No. 28710/2012/PR I - III -2, dated 18.10.2012, 10.9.2013 and 11.12 2013.

ORDER:-

In the Government order first read above, orders along with necessary guidelines were issued for the implementation of energisation of street light with solar energy for the year 2012-2013.

- 2. In the letter second read above, the Chairman and Managing Director, Tamil Nadu Energy Development Agency has sent a proposal and has requested the Government to issue certain amendments and to revise the cost for energisation of 20,000 street lights at a cost of Rs.39,62,52,887/- against the earlier sanction of Rs.52.83 Crores.
- 3. In his letter third read above, the Director of Rural Development and Panchayat Raj has recommended the proposal of the Chairman and Managing Director, Tamil Nadu Energy Development Agency and requested the Government to issue revised orders in this regard.
- 4. The Government have examined the request of the Chairman and Managing Director, Tamil Nadu Energy Development Agency and Director of Rural Development and Panchayat Raj and decided to accept them. Accordingly, the Government issue the following amendments to the G.O.(Ms) No.67, Rural Development and Panchayat Raj (SGS 3) Department, dated 2.8.2012 along with guidelines.

(P.T.O.)

- 2 -

Amendments.

- (i) Wherever the word cluster of 10 lights exists, the word "cluster of 15 lights " shall be substituted.
- (ii) In para 3 of the G.O., the words begins with, "Based on thetill Total State Government Fund" (in the Table) shall be deleted and substituted the following:-

Description	Quantity	Tender Rate in Rs	Amount in Rs.(Quantity Tender rate)
Street lights (cluster mode)	1269	2,33,439	29,62,34,091.00
Street Lights (Standalone)	1000	21786	21,78,6000.00
Remote Monitoring Unit for Cluster of Street Light (RMU)	1269	21700	27,53,7300.00
Third Party Inspection (TPI)	1000	155	1,55,000.00
Pre Despatch Inspection (PDI)			2,00,000.00
TANGEDCO Cut point Delinking	18030	1250	2,25,37,500.00
Erection of new poles	1005	12500	1,25,62,500.00
Project Cost (Total)	T Water		38,10,12,391.00
TEDA Service charges @ 4% of the project Cost			1,52,40,495.6
Total Project Cost		-	39,62,52,886.60

⁽iii) The existing para No's of the G.O. repeated after para 3 shall be changed as 4,5,6, &7.

- 3 -

(iv) Para 5 (ii) shall be deleted and substituted the following:-

Sanction is accorded for a sum of Rs.39.62 crores (Rupees thirty nine crores and sixty two lakhs only) for energisation of 20,000 street lights with solar power in village panchayats during the financial year 2012-13. The funds for the scheme may be provided as summed up below:

i. From the SFC grant of Village : Rs. 21.35 crores Panchayats

ii. From the State Government account : Rs. 10.13 crores

iii. From the IGFF vested with District: Rs. 8.14 crores Collectors for the year 2013-2014.

Total: Rs. 39.62 crores

5. This order issues with the concurrence of Finance Department vide its U.O.No.11258/Finance(RD)Dept./2014, dated 05.03.2014.

(By Order of the Governor)

N.S. Palaniappan, Principal Secretary to Government.

Τo

The Secretary to Government, Energy Department, Chennai -9

The Secretary to Government, Information Technology Department, Chennai-9.

The Director of Rural Development and Panchayat Raj, Chennai-15.

The Chairman and Managing Director, Tamil Nadu Energy Development Agency, Chennai -6.

All District Collectors, (Except Chennai)

All Project Directors, District Rural Development Agencies (Through Director of Rural Development and Panchayat Raj)

The Pay and Accounts Officer (South), Chennai -5.

Copy to:

The Additional Chief Secretary /Secretary -I to the Hon'ble Chief Minister,

Chennai -9.

The Senior Personal Assistant to Hon'ble Minister for Finance and PWD, Chennai -9.

The Senior Personal Assistant to Hon'ble Minister for Electricity and

Prohibition Excise, Chennai-9.

The Senior Personal Assistant to the Hon'ble Minister for Municipal Administration, Rural Development, Law, Courts and Prisons, Chennai -9.

Finance (RD/FC.IV) Department, Chennai - 9.

The Accountant General, Chennai -9/18/35.

All District Treasury Officers.

//Forwarded by Order//

S. Venhandsetting

